3.6     Management Accounting

PROBLEMS ON INCOME STATEMENT

Q1   The income statement of a company as on 31st Chaitra last year has been given as under: 

	Production units
	1,200

	Sales units
	1,000

	Sales revenue @ Rs. 12
	12,000

	Less: Cost of goods sold:
	

	Variable manufacturing cost
	4,800

	Fixed manufacturing cost
	2,400

	Cost of production
	7,200

	Add: Opening stock (200 units)
	1,200

	
	8,400

	Less: Closing stock (400 units)
	2,400

	Gross profit before adjustment
	6,000

	Add: over absorption of fixed manufacturing overheads
	400

	Gross profit after adjustment (A)
	6,400

	Less: Non manufacturing cost: 
	

	Variable selling and administrative cost
	1,000

	Fixed selling and administrative cost
	1,000

	Total (B)
	2,000

	Net Profit (A–B)
	4,400


Required: 

(a)
Income statement under variable costing

(b)
Sales volume required to earn 20% on selling price

(c)
Sales volume required to earn after tax profit of Rs. 6000 (corporate tax rate is 20%)

Q2 The XYZ company was organized on January 2, 19x2. The company’s financial position, prepared at the end of each of its first three years, was as follows: 

	Particulars 
	19x2
	19x3
	19x4

	Cash
	$
11,000
	$
 6,000
	$
20,000

	Inventories
	0
	15,000*
	5,000+

	
	11,000
	21,000
	25,000

	Capital stock
	10,000
	10,000
	10,000

	Retained earnings
	1,000
	11,000
	15,000

	
	11,000
	21,000
	25,000


*
Includes $ 4,000 of fixed overhead

+ 
Includes $ 1,500 of fixed overhead

Required: 

a. 
What were the reported incomes for 19x2, 19x3, 19x4, assuming that no dividends were paid? 

b.
What would the income have been if variable costing had been used instead of absorption costing for these three years? 

Solution 

(a) If dividend is not paid, net income

	
	19x2
	19x3
	19x4

	Retained earnings 
	$ 1,000
	$ 10,000
	$ 4,000


(b)
Calculation of net income under variable costing

	
	19x2
	19x3
	19x4

	Net profit as per absorption costing
	$ 1,000
	$ 10,000
	$ 4,000

	Less: Fixed manufacturing costs included in closing stock
	0
	4,000
	1,500

	
	1,000
	6,000
	2,500

	Add: Fixed manufacturing cots included in opening stock
	0
	0
	4,000

	Net Profit as per variable costing
	1,000
	6,000
	6,500


Q.3 The Quaz Company began operations on January 1, 19x2. Following is a summary of its operations for the first three years of its existence:

	Particulars 
	19x2
	19x3
	19x4

	Volume in units:
	
	
	

	
Sales
	25,000
	30,000
	20,000

	
Production
	30,000
	35,000
	15,000

	Selling price per unit
	$ 33
	$ 33
	$ 33

	Variable costs per unit:
	
	
	

	
Selling
	$ 4
	$ 4
	$ 4

	
Production
	$ 12
	$ 12
	$ 12

	Fixed costs per year:
	
	
	

	Selling
	$ 125,000
	$ 125,000
	$ 125,000

	Production
	$ 225,000
	$ 225,000
	$ 225,000


Fixed overhead is applied under the absorption costing method, based on a normal volume of 25000 units per year: 

Required: 

a.
Compute the income in each of the three years under absorption costing and then under variable costing. (The company uses FIFO).

b.
Explain the differences in reported income in each year and for the three year period.

c.
Which costing method do you believe has been prepared for use in the company’s income? Why?

Q4 The following annual flexible budget has been prepared for use in making decisions relating to product X.

	
	100,000 units
	150,000 units
	200,000 units

	Sales volume
	$ 800,000
	$ 1,200,000
	$ 1,600,000

	Manufacturing costs: 
	
	
	

	
Variable
	300,000
	450,000
	600,000

	
Fixed
	200,000
	200,000
	200,000

	
	500,000
	650,000
	800,000

	Selling and other expenses: 
	
	
	

	
Variable
	200,000
	300,000
	400,000

	
Fixed
	160,000
	160,000
	160,000

	
	360,000
	460,000
	560,000

	Income (or loss)
	(60,000)
	90,000
	240,000


The 150000 unit budget has been adopted and will be used for allocating fixed manufacturing costs to units of product X: at the end of the first six months, the following information is available.

	
	Units

	Production completed
	120,000

	Sales
	60,000


All fixed costs are budgeted and incurred uniformly throughout the year and all costs incurred coincide with the budget.

Over and under applied fixed manufacturing costs are deferred until year end.

Required: 

a.
Compute the amount of fixed factory costs applied to product during the first six months under absorption costing.

b.
Compute the net income (or loss) for the six months under absorption.

c.
Compute the net income (or loss) for the first six months under direct costing.

Q.5   Management of Bicent Company uses the following unit costs for the one product it manufactures: 

	
	Projected cost per unit

	Direct material (all variable)
	$ 30.00

	Direct labour (all variable)
	19.00

	Manufacturing overhead:
	

	
Variable cost
	6.00

	
Fixed cost (based on 10,000 units per month)
	5.00

	Selling general and administrative:
	

	
Variable cost
	4.00

	
Fixed cost (based on 10,000 units per month)
	2.80


The projected selling price is $ 80 per unit. The fixed costs remain fixed within the relevant range of 4,000 to 16,000 units of production.

Management has also projected the following data for the month of June 19x6.

	
	Units

	Beginning inventory
	2,000

	Production
	9,000

	Available
	110,000

	Sales
	7,500

	Ending inventory
	3,500


Required:
Prepare projected income statements for June 19x6 for management purposes under each of the following product costing methods: 

a)
Absorption costing with all variances charged to cost of goods sold each month.

b)
Direct (variable) costing

Supporting schedules calculating inventorial production costs per unit should be presented in good form. Ignore income taxes. 

Q.6 Ray Baker began manufacturing operations in a small plant at the beginning of 19x4. At the end of that year, his accountant prepared the following income statement.

BAKER BREAD COMPANY

Income Statement

Year Ended December 31,19x4

	Sales (80,000 units)
	
	$
81,000

	Variable expenses:
	
	

	Manufacturing
	$
39,200
	

	
Marketing
	$
16,000
	55,200

	Contribution Margin
	
	25,800

	Fixed expenses:
	
	

	
Manufacturing
	22,500
	

	
Other
	6,500
	29,000

	Net Loss
	
	$
(3,200)


Baker became very discouraged as a result of seeing this income statement. His wife, however, who was working for her M.B.A at the University, suggested that his mistake was in using variable costing to prepare the income statement. She thought that a switch to absorption costing would be profitable for Baker. Income Taxes do not need to be considered since the company is not incorporated. Production for 19x4 totalled 150,000 units of final product.

Required:

a) Recomputed the company's 19x4 income, using absorption costing. Was Mrs. Baker correct? Explain.

b) Assume that Baker produces 120,000 units in 19x5 and sells 190,000 units. Assuming that all costs and expenses adhere to the same pattern as in 19x4 and that the unit selling price does not change, which costing method will result in the higher net income in 19x5? Support your answer with calculations.

Q 7 The Vice President for sales of Huber Corporation has received the Income Statement for November 
19x9. The statement has been prepared on the direct cost basis and is reproduced on the top of 
the 
next page. The firm has just adopted a direct costing system for internal reprint purposes.

The controller attached the following notes to the statements.

· The unit sales price for November averaged $ 24.

· The standard unit manufacturing costs for the month were:

	Variable cost
	$12

	Fixed cost
	4

	Total cost
	$16


HUBER CORPORATION

Income statement

For the Month of November 19x9

(in Thousands)

	Sales
	
	$
2,400

	Less: variable standard cost of goods sold:
	
	1,200

	Manufacturing Margin
	
	1,200

	Less: fixed manufacturing costs on budget
	
$600
	

	Fixed manufacturing cost spending variance
	0
	600

	Gross Margin
	
	$
600

	Less: Fixed Selling and administrative costs
	
	400

	Net Income before taxes
	
	$
200


The unit rate for fixed manufacturing costs is a predetermined rate based upon a normal monthly production of 150,000 units.

· Production for November was 45,000 units in excess of sales.

· The inventory at November 30 consisted of 80,000 units.

Required: The vice-President for sales is not comfortable with the direct cost basis and wonders what the net income would have been under the prior, absorption cost basis.

1. Present the November Income Statement on an absorption cost basis.

2. Reconcile and explain the difference between the direct costing and the absorption costing net income figures.

Q.8 The S. T. Shire Company uses direct costing for internal management purposes and absorption costing for external reporting purposes. Thus, at the end of each year, financial information must be converted from direct costing to absorption costing in order to satisfy external requirements.

At the end of 19x1, it was anticipated that sales would rise 20% the next year. Therefore, production was increased from 20,000 units to 24,000 units to meet this expected demand. However, economic conditions kept the sales level at 20,000 units for both years.

The following data pertain to 19x1 and 19x2;

	
	19x1
	19x2

	Selling price per unit
	$30
	$30

	Sales (units)
	20,000
	20,000

	Beginning Inventory (units)
	2,000
	2,000

	Production (units)
	20,000
	24,000

	Ending Inventory (units)
	2,000
	6,000

	Unfavourable labour, materials, and variable overhead Variances (total)
	$ 5,000
	$ 4,000


Standard variable costs per unit for 19x1 and 19x2 

	Labour
	$
7.50

	Materials
	4.50

	Variable overhead
	3.00

	
	$   15.00


Annual fixed costs for 19x1 and 19x2 (budgeted and actual)

	Production
	$  90,000

	Selling and administrative
	100,000

	
	$190,000


The overhead rate under absorption costing is based upon practical plant capacity, which are 30,000 units per year. All variances and under absorbed or over absorbed overhead are taken to costs of goods sold.

All taxes are to be ignored.

Required:

a) Present the income statement based on direct costing for 19x2.

b) Present the income statement based on absorption costing for 19x2.

c) Explain the difference, if any, in the net income figures. Give the entry necessary to adjust the book figures to the financial statement figure, if one is necessary.

d) The company finds it worthwhile to develop its internal financial data on a direct cost basis. What advantages and disadvantages are attributed to direct costing for internal purposes?

e) There are many who believe that direct costing is appropriate for external reporting and many who oppose its use for external reporting. What arguments for and against the use of direct costing are advanced for its use in external reporting?

Q.9 The Lindale Company reported the following operating results for December 19x5:

	Sales (units)
	62,000

	Selling price (per unit)
	$ 10

	Production (total Units)
	66,000

	Cost of production: 
	

	Variable manufacturing cost per unit
	$ 6

	
Fixed (total)
	$ 79,200

	Selling and administrative costs:
	

	
Variable (per unit sold)
	$ 1.50

	
Fixed (total)
	$ 26,000

	Work in process inventories
	0


Required: Prepare an income statement for December 19x5, using a absorption costing, and b variable costing, under each of the following assumptions:

a. There is no beginning inventory of finished goods.

b. The beginning inventory of finished goods consists of 5,000 units with a full cost of $7.50 
per unit ($6.10 of which is variable manufacturing costs). The company uses FIFO.

c. The beginning inventory of finished goods is as described above, but the company uses LIFO.
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